[ ]

11 (@) n=256, p=1/2 (2)2 B(256,1/2)

(3) u=256x1/2=128, o?=256x1/2x(1-1/2) =64, o=+/64=8

(4) n=256 N (128, 64)

(5) P(116-0.5< X <136+0.5) Z = (X -128)/+/64 = (X —128)/8

P((116—0.5-128)/8 < Z < (136 +0.5-128)/8) = P(-1.562 < Z <1.062)
=..-=0.4406 + 0.3554 = 0.7960 ( )

12 @[ n=300, ©=0, ¢® =112 ][ n=300 ]
X = (X 4+ X400)/300 N (0, (1/12)/300) = N(0,1/3600)

E[X]=0 V[X]=1/3600 (2) P(3.6/300< X < 6.7/300)
Z = (X -0)/,/(/3600) = 60X
P(60x3.6/300 < Z <60x6.7/300) = P(0.72 < Z <1.34)
=...=0.4099 - 0.2642 = 0.1457 ( )
(3) P(X <-0.013) = P(Z < -60x0.013) = P(Z < -0.78)
=...=0.5-0.2823=0.2177 ( )
(1) o®=400,n=25X=52.3 (2) N (1, 400/25) = N (1,16), V[X]=16

(3) P(-1.96 < (X - )/ /16 <1.96) = 95% ( )

4) X =x=52.3 52.3-1.96x+/16 < 11 <52.3+1.96x+/16

..., 4446 < 11 <60.14

(5) P(~2.58 < (X — u)/+16 < 2.58) = 99%

52.3—2.58x+/16 < X <52.3+2.58x+/16 ..., 41.98< 11 <62.62



(1)@ H,:u=52.01, H,:u#5201 (b) H,:u=5201 H,:u>5201
) o2=4.0,n=25%=5237 (3) N (52.01,4.0/100) = N (52.01,1/25),

Z = (X -52.01)/{/(/25) =5(X -52.01)  N(0,2)

(4) ( ) () P(|Z|>1.96)=5% (b) P(Z >1.65)=5%
(5) z=5(52.37-52.01) =5x0.36 =1.8 (a) z H,
1#=5201 u 5201 @ z H,

©>5201 5201

15(1) n=13,X=57.3,5s2=3.0 (2) 12 t T =(X - p)/vs? 112

(3) 1,(0.05) =2.18 P(—z.lss(f—ﬂ)/\/szllz <2.18)=95% ( )
(4 X =Xx=573 S°=s°=3.0

57.3—2.18x+/3.0/12 < 41 <57.3+2.18x+/3.0/12, ..., 56.21< 11 <59.39
(5) t,(0.01) =3.05 P(-3.05< (X - ,U)/ VS?/12 <3.05) = 99%

57.3-3.05x+/1/4 < X <57.3+3.05x~/1/4, ..., 55.775< 11 <58.825



